

نام و نام خانوادگی *احمد حسن زارعی*
پاسخنامه تشریحی تکلیف شماره ۱/۲ کلاس *۴*
..... *احمد حسن زارعی*

$$t_1 = a, q = \frac{1}{v} \times v = v$$

$$t_{IV} = q_1 q^{14} = \frac{1}{\nu} x q^{14} = \nu^{-16}$$

$$t_{lv} = q'_{lv} = \frac{1}{v} \alpha q^{lv} \approx v^{\omega}$$
$$t_k = \frac{1}{v} \alpha q^{kv} = v^v, t_1 = v^1 \approx$$
$$\rightarrow t_{lv} = q'_l q'^v = \frac{1}{v} x v^v = v$$
$$\frac{v^{\omega}}{v^{11}} = \frac{v^{\omega}}{v^v}$$

$$\|v\| + \frac{\gamma}{\delta} \|x\| \leq \frac{\gamma}{\delta} \|x\|$$

$$\left. \begin{array}{l} q_1 q_1' = 1 \\ q_1 q_1' = q_4 \end{array} \right\} \Rightarrow q^{\mu} = 1 > q = \sqrt{2} =$$

$$t_{1-} = q, q \geq \frac{1}{2} \quad \frac{1}{2} \times \frac{1}{2} = \frac{1}{4} \times \frac{1}{2} \times \frac{1}{2}$$

$$\begin{aligned} a \times a \gamma \times a \gamma^{\omega} \times a \gamma^{\omega} &= a^{\omega} \gamma^{\omega} = \gamma^{\omega} \\ a^{\omega} \gamma^{\omega} &= \gamma^{\omega} \end{aligned}$$

[illegible]

$$(e\sqrt{v})^v = v^{x_{v-1}} = \binom{v}{a+b} = v^{y-1}$$

$$= \frac{d+b}{2} = \frac{Q}{2} = \frac{P}{2}$$

$$\frac{1}{\sqrt{k}} = \frac{1}{\sqrt{k+1} + \sqrt{k-1}} = \frac{\sqrt{k+1} - \sqrt{k-1}}{(k+1) - (k-1)} = \frac{\sqrt{k+1} - \sqrt{k-1}}{2}$$

$$\frac{\sqrt{2}}{1+i} = \frac{\sqrt{2}}{1-i} = \frac{1-i}{1-i} = 1-i$$

$$a + av^r = v^r \rightarrow a(1+v^r) = v^r \rightarrow \int \frac{1}{x(1+x^r)} = \int \frac{1}{x} - \int \frac{1}{1+x^r}$$

$$= \ln x - \frac{1}{r} \ln(1+x^r) + C$$

$$\frac{1}{x(1+x^r)} = \frac{1}{x} - \frac{1}{1+x^r}$$

$$\int \frac{1}{x(1+x^r)} = \int \frac{1}{x} - \int \frac{1}{1+x^r}$$

$$a \times a^r \times a^r = a^r \times a^r = a^{2r} = a^r \times a^r = a^r \times a^r$$

$$\frac{1}{r} \ln(1+x^r) = \frac{1}{r} \ln(1+x^r) = \frac{1}{r} \ln(1+x^r)$$

$$\int \frac{1}{x(1+x^r)} = \int \frac{1}{x} - \int \frac{1}{1+x^r}$$

$$a^r \times a^r = a^{2r} = a^r \times a^r$$

$$a^r \times a^r = a^{2r} = a^r \times a^r$$

$$\frac{a(r-1)}{a(r-1)} = \frac{a(r-1)}{a(r-1)}$$

$$S_n = [a_1 + (n-1)d] + [a_1 + (n-1)d] + \dots + a_1$$

$$S_n = a_1 + (n-1)d + a_1 + (n-1)d + \dots + a_1$$

$$S_n = a_1 + (n-1)d + a_1 + (n-1)d + \dots + a_1$$

$$S_n = a_1 + (n-1)d + a_1 + (n-1)d + \dots + a_1$$